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Section A: (30 x 2 marks = 60 marks)
For each guestion from 1 to 30, four options are given. One of them is the correct

answer, Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet.

1. Which one of the following is a living thing?

O @ (3) (4)

2. Which one of the animals shown below is NOT a bird?

() ()
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3. The diagram below shows a picture of a lady hanging on a wall.

Glass is used to make part A of the picture frame because it

(1) sinks in water
(2) is inflexible
(3) is transparent
4) s strong

4. The diagram below shows a plant.

Which part (W, X, Y or Z) holds the plant upright?

() W
2 X
@ Y
@ 2z



Which one of the following organs is part of our digestive system?

M (2)

large intestine

(4)

A ring was attracted to a magnet, as shown in the diagram below.

ring

magnet

The ring is made of

(1) gold
{(2) plastic
(3) - rubber
(4) steel



7.

8.

Which one of the following is a source of light?

M )

a mirror a starfish

(3) 4

the Sun an apple

Cindy places a metal stirrer in a glass of ice lemonade. The stirrer becomes
colder after a while.

§ Metal stirrer

lce cube

Which one of the foliowing best explains this?

(1) The ice cubes lose heat to the stirrer.

(2) The stirrer loses heat to the lemonade.

(3}  The stirrer gains heat from the lemonade.

{4) The ice cubes gains heat from the lemonade.



8.

10.

The diagram below shows the life cycle of an animal.

N

larva aduit

€gg

Which animal is likely to have the life cycle as shown above?

(1) frog

(2)  cockroach

(3y  grasshopper

(4) meaiworm beetle

Matter is anything that has mass and occupies space.

Which one of the following is matter?

{1} steam
(2) sound
{3) shadow
(4) sunlight



11.  Perry wants to conduct an investigation to find out if organism Y can stay alive
with only food given for a week. He placed simifar organism Y in four different
set-ups in the same room.

Set-up A B C D

Presence of No Yeas " Yes No
food

Presence of Yes No Yes I No
water

Which of the above two set-ups should he use for his investigation?

(1) AandB
(2 AandC
3y BandC
4 BandD



12.  Study the flow chart below.

Start

What could P, Q and R be?

P Q R
() horse owl parrot
(2) wha{é siiverfish sheep
3) platypus guppy eagle
“4) rabbit beetle penguin




Adeline placed two similar 10 kg bowling balls on two wall shelves, A and B,
made of different materials. After 5 minutes, she observed that shelf B broke
while shelf A was still able to hold the 10 kg bowling ball.

Shelf A Sheif B

After that, she placed the two bowling balls on shelf A and another two similar
bowling balls on sheilf C. After 5 minutes, she abserved that shelf A broke but
shelf C did not break.

10 kg bowling ball 10 kg bowling ball
l’r ) !}}?ﬂ\ "P ?b
S50 : HONh
St By
.: ‘{?{? 0 " 3
3 . 153
: N }:9»4; A
L 1
Sheif A Shelf C

What conclusion(s) can Adeline make from her observations?

A Shelf B is the weakest

B Shelf C is weaker than shelf A.

C Shelf A is stronger than shelf B and shelf C.
D Shelf A and Shelf C is stronger than shelf B.

(1)  Aonly
(2y Conly
{(3) AandDonly
(4) BandC only



14.

Study the classification chart below.

Leaves

Smooth edge

Parallel
veins

Which-group of leaves does leaf X belongs to?

(1)
(2)
{3)
(4)

w0 HU

Network
veins

Toothed edge
Parallel Network
veins veins
R S

leaf X




15.

16.

Which of the following statement(s) is/are true about the human digestive system?

A
B
C

(1)
(2)
(3
4)

Food is not digested in the mouth and gullet.
Digestive juices are produced in the small intestine.
Water is absorbed from undigested food in the large intestine.

B only

C only

B and C only
A,BandC

The diagram below shows a horseshoe magnet with different parts iabelled A, B,
CandD.

B

D

If part A can attract 5.pins, which of the following best represents the number of
pins attracted by parts B, C and D of the horseshoe magnet?

[ B ¢ D
(1) 1 3 4
@) 1 4 3
3 3 1 4
(4) 3 4 1

10



17.

18.

Mala used a magnet to hold a sheet of paper on the surface of a refrigerator. She
noticed that the magnet can only hold up fo 6 sheets of the same type of paper.

| — magnet

T sheet of paper

Which one of the following best explains her observation?

(1)  The magnet can attract up to 6 sheets of paper.

(2)  The refrigerator and the paper are made of magnetic material.

{(3) The magnetism of the magnet cannot pass through 6 sheets of paper.

(4) The magnetism of the magnet can only pass through a maximum of 6
sheets of paper.

Which of the following path of light correctly shows how Jane sees the clouds?

vAgY
qp(\%n:»

(1) From Jane's eyes to Sun to clouds.
(2) From Jane's eyes to clouds to Sun.
(3) From Sun to Jane’s eyes to clouds.
{4) From Sun to clouds to Jane's eyes.

11



19. Fiona conducted an investigation using a torch and a light sensor to find out
the amount of light that passes through hot water and black coffee. She
recorded her readings in the table below.

Hot vwater Black coffee

450 unit 30 unit

Thenext day, Fiona used the same set-up and mixed equal amount of substance
X and substance Y into the hot water separately and recorded the readings of
both mixtures in the table below.

fixture of hot water AMibdure of hot water and
and substance X substance Y
25 unit 450 unit

What substance could X and Y be?

Substance X Substance Y
)] sugar salf
@ milo powder sugar
3) salt honey
“) soya sauce milo powder

12



20. The diagram below shows how Mike created a shadow of a rabbit with his hands
onh a white screen in his study room.

white screen
Torch P
: —~—

What should Mike do if he wants to create a bigger shadow?

A Move the torch nearer to his hands.

B Move his hands further away from the torch.

c Move the white screen further away from his hands.
D Move his hands and torch nearer to the white screen.

(1) Bonly

(2 AandConly
(3 A, BandD only
4y A, B,CandD

13



21.  The diagram below shows two beakers, each with 150 mil of water at different
temperature.

50°C —==2

beaker‘A beakerB

Which of the following lines in the graph correcfly shows the changes in the
temperature of water in beaker B over the next two minutes when water in
container A is poured into beaker B? '

Temperature of water in
beaker B 5"0)
WmELE,

70 -+ LA
60 -+ ‘
50 4+ o JPtonl
40 - ' ) .-....‘..’,,.r""‘." ~ . C
30+

20
0 } {— Time/min

(1)
(2)
(3)
)

COow>

14



22. Bepjamin had a metal bar which was made up of three different types of metals.

After heating it for 5 minutes, Benjamin observed that the metal bar became
curved as shown in the diagram below.

P
Q
R

Before heafing After heating

Which of the following would be the best conclusron made by Benjamm about the
experiment he had done?

(1)  Only metal R expanded.

(2) Metal R expanded the most.

(3) Metal P contracted the most.

(4) Metal Q expanded less than metal R.

23.  William conducted an experiment to find out the heat conductivity of four pots
made of different materials. He poured equal amounts of tap water into the four
pots and placed them under the sun in the same place. After 20 minutes, William
recorded the temperature of the water in all four pots in the table below.

Type of pots A B C D
Starting temperature 25°C 25°C 25°C 25°C
of tap water

Temperature of tap water 29°C 38°C 26°C 35°C
after 15 minutes

Arrange the pots in order from the poorest conductor of heat to the best
conductor-of heat.

(1) AGC,D,B
) B,D,AC
3) C.A D,B
(4) D,B,C,A

15



24. The graph below shows the amount of food taken in daily by animal X at different
stages of its life cycle. The stages are not arranged in order.

Amount of food (grams)

a

30T
25 T
20 T
15 +

10
5 -~
0

» Stage in the life cycle

egg

adult larva

N—

pupa

Which one of the stages in the graph best represents the-larval stage of animat X?

(1) StageA
(2) StageB
(3) StageC
(49 StageD

16



25. Mrs Lee prepared four different set-ups to teach her class about the conditions
needed for seeds to grow. She placed equal number of seeds in each set-up but
exposed them fo different conditions as shown below.

vAg
yO'g
v dark room
dry cotton woo! * moist
.@ cotton wool
Set-up A

dark room -~ >

dry

cotton wool [&J—moist cotton wool

Set-up D

Which of the following set-up(s) will the seeds grow into seedlings after a few

days?

(1) Bonly
(2) Aand D
(3) BandD

(4) B,CandD .

17



26.

27,

Raymond bought a cup of milk tea with pearls filled up to the 200 cm® mark.

The cup was filled with pearls up to the 80 cm® mark before the milk tea was
poured into the cup. What was the likely amount of milk tea used to make this
cup of drink?

(1) 80cm®

@ 120cm’
(3) 140cm’
(4 200cm®

The diagram below shows three cups with different volumes.

Cup A CupB CupC

Which of the following cup/cups can contain 100 cm® of oxygen?

(1) Aonly
(@ Conly
3 AandC

(44 A.BandC

18



28.  Which of the following correctly explains how clouds are formed-in the water
cycle?

(1Y Water loses heat to the surroundings and forms clouds.

(2) Water gains heat from the surroundings and forms clouds.

(3) Water vapour loses heat to the surroundings and forms clouds.
(4) Water vapour gains heat from the surroundings and forms clouds.

29.  Which of the following activities help(s) us to conserve water?

A Wash vegetables under a running tap.
B Purify used water from homes and factories for other uses.
C Collect rinse water from the washing machine to flush the toilet.

(1) Bonly

(2) AandC only
(3 BandConly
4 A BandC

30. The diagram below shows a simplified version of the water cycle. A, B, Cand D
represent the processes that take place in the cycle.

A clouds B
Water vapour Rain
Water bodies | -

Which process involves heat gain or heat loss by water/water vapour?

Heat gain Heat loss
(1 A B
(@) B c
3) C D
“) D A

19
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Section B: (40 marks)

Write your answers fo questions 31 to 44.The number of marks available is shown in
brackets [ ] at the end of each question or part question.

31.

Look at the diagram below and tick (V) the correct box(es).

It is an insect because it

O

O
O
O

can crawl
has six legs
has eyes

has three body parts

20

2]

Score




32.

The diagram below shows the human digestive system.

a)
b)

Part B

Past C

identify the part where

digestion first takes place :

digestion is completed

21

Part A

Part

- Part

Part D

[1]
[

Score




33. The diagram below shows how David sees the statue of the Merlion,

Meriion

David

The sun gives off and the statue of the Merlion
the light into David’s eyes. {21

34. Royhad afever. He used an instrument to measure his temperature.

a) What is the instrument called? [1]

b) What is Roy’s temperature? [1]

2_2 Score




35.  Study the diagrams below and tick () the correct box for part (a) and (b).

()

4 ]

a) Block X, ' block Y. [1]

[1 islighter than
] hasthe same mass as

1 is heavier than

b) BlockY blockZ. [1]

U is lighter than
| has the same mass as

[J s heavier than

Score

23



36.

Eric conducted an experiment to investigate a properly of material using 3
different sheets of materials, A, Band C.

.

C

He placed sheets of the same material together to tear them. Then he recorded
the maximum number of sheets of the same material that he can tear together at
one go in the table below.

h & C

a) What property of material was Eric investigating? f1]

b) State two variables that must be kept the same in order to ensure a fair
test. [2}

c) Which material should Eric choose to make a paper bag to carry heavy
books? Explain your answer. (1]

Score 4

24



37.  Jack has two similar pofted piants in his garden. He removed all the leaves from
plant B but continues to water both plants daify.

Plant A Plant B
a) What will most likely happen to plant A and plant B after a week? [11
b) Explain your answer in part (a). [1]
c)

Jack wanted to remove plant A from the pot and plant it in the ground. He
had difficulties pulling out the plant so he cut the roots of the plant. Aftera

week, the plant wilted and died even though Jack watered it daily. Explain
why the plant died. i1l

Score 3

25







38.

Max used a piece of bar magnet to magnetise a piece of rod in order to pick up
some paper clips. He stroked the rod with the magnet from one end to the other
end and repeated this step-by increasing the number of strokes. He observed the
number of paper clips picked up by the rod as the number of strokes increased
and recorded his observations in the table below.

Magnet

Rod |

Number of strokes

Number of paperclips picked up

6 2
10 5
20 8

a) What relationship could Max observe between the number of strokes and
the number of paperclips picked up by the rod? [2]

b) His friend, Rex, used the same method to magnetise a different piece of
rod but the rod was not able to pick up any paper clips. Name the type of
material that each rod is likely {o be made of.

Max's rod:

(2]

Rex's rod:

26

Score 4




39. Study the flow chart below and answer the questions that follow.

| Stat |

Does it block
all light?

Does it casta
shadow?

a) Based on the flow chart above, which card is made of opaque material?

[

b) Arrange the cards (A, B and C) in the boxes below so that a dark
shadow of the pencil will be cast on the second card when the torchis
lighted. [2]

First Second Third

Torch

card

/

27



40. Study the line graph below andanswer the questions that foliow.

Length of the shadow
F: N
¢
A
»Time of the day
a) Which part of the graph, A, B or C, represents noon time-(12 pm)? [}
b) Give areason for youranswer in part (a)7 1

c) Tomis walking along the pavement and holding a:big black umbrellato
shieid himself from the glaring sun.

Will he be able to see a shadow/ of the umbrella on the pavement?
Explain your answer. '

1]

Score 3

28






41. Mr. Chong conducted an experiment with his class as shown in the diagram
below. He inserted four rods of different materials into a trough. Then he coated
the ends of each rod with wax. After that he poured hot water into the trough.

ax
Rod A

Raod D (—— j:::)ROdB
(Z Rod C ‘

He recorded the time taken for the wax on each of the rods to melt in the table
below. -

Time taken for the wax to melt (minutes)

a) Based on Mr Chong's experiment, identify the variables in his experiment.
g [3]

Put a tick {+') in the correct boxes helow. *
Independent | Dependent Constant
variable Variable variable

Variables

Material of rod

Amount of wax

Time taken for the wax to melt

by  Which rod (A, B, C or D) would Mr Chong choose to make part X of the
barbecue skewer so that his hand will not be scalded easily when he holds
part X to cook the meat? Explain your answer. (1]

meat

4 !

Part X

Barbecue skewer

Score 4

29



42.  Study the classification table below and answer the questions that follow.

Life cycle
|
3-stage 4-stage
l I
Adult lays eggs Adult tays eggs Adult lays eggs " Adult lays eggs
on land in water on land in water
Animal P Animal Q Animal R Animal §
a) Based on the classification chart above, how would you describe Animal Q7
[1]
b) Match the animals below with the animals described in the classification
chart.
| . i2]
i) Duck:
i} Moth:
Score 3

30




-43.

Sandy and her friends were at a beach building a sandcastle. She filled a bucket
with sand to the brim. Then sha poured some seawater into the bucket to wet
the sand and noticed that the seawater did not spill. out of the bucket even
though the bucket was filled with sand.

a)  Explain why the seawater dfd not spill out of the bucket.
i1

b) Sandy used another bucket to collect seashells to decorate the sandcastle.
. She couid only put 50 seashells into the bucket. Explain why she could not
put more-than 50 seashelis into the bucket. 1}

After an hour, they built a srnall sandcastle as shown in the diagram balow.
Sandy commerted that the sand is not a solid because it takes the shape of the
bucket and can also change its.shape to make a sandcastle.

c) I8 Sandy correct? Explain your answer. 1]

Score 3

31




44,

Irene set up an experiment to observe condensation taking place in a room with
a constant temperature of 28°C. She filled three identical glasses with the same
amount of water but at different temperature as shown below.

Glass A Glass B Glass C
50 mi 50 mi 50 mi
28°C 43°C 5°C

(a) Which glass(es) would she be able to cbserve water droplets forming on the

outer surface of the glass? ]
(b) Explain how the water droplets were formed in part (a} 2]
End of paper
Score 3

32,
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31. Has six legs
Has three body parts
32.A&C
33. Light
Reflects
34. a) Thermometer
b) 39°C
35. a) has the same mass as
b) is lighter than
36. a) He wanted to find out the strength of the material.

b) The thickness of the materials and the length of the materials.

¢) Material B is the strongest material so that the paper bag will not tear easily.

-1 -




37. a) Plant A will be alive while plant B will be dead.
b) Plant A has leaves to make food for the plant but plant B does not.
¢) The roots help the plant absorb water. After Jack cut the roots, the plant can’t absorb
any
water.

38. a) The more the number of strokes, the more the number of paper clips picked up.
b) Iron
Wood

39.a)Card C
b)ACB

40.a) B
b) The shadow is shortest at noon.
¢) Yes. The umbrella is black, thus it is opaque and casts a shadow on the pavement.

41, a)Independent variable
Constant variable
Dependent variable
b) Rod A. It took the longest time for the wax to melt and it is the poorest conductor of
heat.

42. a) Animal Q has a 3 stage life cycle and lays eggs in water.
b) i) Animal P
ii) Animal R

43, a) There were air spaces for sea water to occupy so it did not spill.
b) Seashells are solids and cannot be compressed.
¢) No. Each grain of sand is a solid and has a definite shape.

44. a) Glass C
b) When the surrounding water vapour touches the cooler outer surface of glass, it will
Jose heat
and condense into tiny water droplets.



